Calcular Porcientos (D)

Calcule el porciento o valor que se pide.

. 664,64 € es el 8% de qué
cantidad?

- 06.291,12 € es el 88% de qué
cantidad?

- ¢1.582,80 € es el 40% de qué
cantidad?

- ¢3.751,28 € es el 52% de qué
cantidad?

- ¢593,14 € es el 47% de qué
cantidad?

10.

:3.029,67 € es el 49% de qué
cantidad?

;1.744,63 € es el 59% de qué
cantidad?

:6.392,82 € es el 93% de qué
cantidad?

:2.078,70 € es el 41% de qué
cantidad?

;1.150,26 € es el 19% de qué
cantidad?
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Calcular Porcientos (D) Respuestas

Calcule el porciento o valor que se pide.

. 664,64 € es el 8% de qué
cantidad?
8.308,00 €

- 06.291,12 € es el 88% de qué
cantidad?
7.149,00 €

- ¢1.582,80 € es el 40% de qué
cantidad?
3.957,00 €

- ¢3.751,28 € es el 52% de qué
cantidad?
7.214,00 €

- ¢593,14 € es el 47% de qué
cantidad?
1.262,00 €

10.

:3.029,67 € es el 49% de qué
cantidad?
6.183,00 €

;1.744,63 € es el 59% de qué
cantidad?
2.957,00 €

:6.392,82 € es el 93% de qué
cantidad?
6.874,00 €

:2.078,70 € es el 41% de qué
cantidad?
5.070,00 €

;1.150,26 € es el 19% de qué
cantidad?
6.054,00 €
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